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Organic Chemistry 1
Exam 3, Ch 7-8, Fall 2017 /50
13) Name the following compounds. (4 pts) Rugg
Br
S -Z-vnethyl hex—2-ene \-bromo-1-methy| %dohaw?ymﬂ‘?—

2 - mexing\ Ve —2E - €ne
14) Identify the stability of the following alkenes as most, least, and middle. (3 pts)

f< It

middle.

15) Can the trans version of the following alkene exist? (1 pt) @ Yes @

16) Indicate whether you would use sodium ethoxide (NaOEt) or potassium tert-butoxide (KOtBu) to
achieve each of the following transformations. Explain your choice. (4 pts)

O< YO P 704 Q< NaOEE @/

e \)QS'EJ ‘tCL\Aes '\‘he., Smal\_e)(ﬂ bage) MoXesS +‘h€ mose
Mmost Owgialo\e Mm%eﬁ Sooe  a\kene

17) Below are two stereoisomers of 1-bromo-4-tert-butylcyclohexane, undergoing E2 reactions. The c:s @5 0‘“
conformation quickly eliminates to the alkene, while the trans conformer is very slow at the \@(

elimination. Explam usmg chairs or Newman prOJectlons (6 ptS)
Br
‘P
%U\\'Dna-p : '

fast under E2 conditions ‘'slow under E2 conditions
\/ /
%,4\/“"-' Eﬁx/er %
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Organic Chemistry 1

Exam 3, Ch 7-8, Fall 2017

18) Draw a detailed meg_hanism for the following reaction. (5 pts)
O\

Rl

OH
H,SO,, H,0
heat " ; =
Major product r< Not observed
\’\ nY/ LL\)\\E X
N R S ko
i j<fzr >\<‘f)ﬁ\ 7.

s

19) Fill in the boxes. The boxes above the arrows are for the reagents, which are listed in the box on the
right. For the products, indicate stereochemistry using wedges and hashes if needed. (2 pts for
products, 1 pt for reagent, total of 7 pts)

HBr. HOOH - H - Possible Reagents
- (.'m(ﬁl g
B vy A1 BHs

-30 °C
2. H,0; NaOH

Brz

Br;, H.0

HBr

HBr, HOOH

mm|giO|®

b) 1. CH3COszH

2. H', H.0

Vo
&

Y

(0]

H,, Pt

H | H,0, dil. H;S04

1ASQy W2 0 | [ 1. Hg(OAc),, H.0

- 2. NaBH,

W o T J [ 1. KMno,,

2. NaOH

K|1 05

149y 2. SMe;

- L | 1. OsO4
9 =R 2. NaHS03/H;0

AaCu  or
—ti‘\’ nwv ( C,sOLl

P ey L’

Q QAQQ <
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Organic Chemistry 1
Exam 3, Ch 7-8, Fall 2017

20) Draw the mechanism and predict the products for the following reactions. Be sure to account for
regiochemistry, stereochemistry, and rearrangement. Use wedges and hashes to indicate

stereochemistry (don’t just say anti or syn). (5 pts each)

2 T >0, B \g Suoer™
-30 °C ” .
5 ¢ H > 3
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